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BSEH Practice Paper (March 2024) 

CLASS: 10th (Secondary)       Code: A 

Roll No.  

ͪव£ान 

SCIENCE 

(Physics, Chemistry and Life Science) 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 60] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 16 हɇ 
और इसमɅ 30 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 16 in number and it contains 30 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना /पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

खंड– अ 

SECTION – A 

(भौǓतक ͪव£ान) 

(Physics) 

1.  Ǔनàनͧलͨखत मɅ से ͩकसमɅ आखं मɅ ͩĐèटलȣय लɅस दूͬ धया और 

धुँधला होता है?         1 

  a) Ǔनकट-Ǻिçट दोष  

  b) मोǓतयाǒबदं 

  c) जरा-दरूǺिçटता  

  d) दȣघ[-Ǻिçट दोष   

Which of the following has milky and cloudy crystalline 

lens in eye? 

  a) Myopia  

  b) Cataract 

  c) Presbyopia 

  d) Hypermetropia 

 2.  ͩकसी ͪवɮयतु धारावाहȣ सीधी लंबी पǐरनाͧलका के भीतर चुंबकȧय 

¢ेğ?          1 

  a) शÛूय होता है  
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  b) इसके ͧसरे कȧ और जान ेपर घटता है  

  c) इसके ͧसरे कȧ और जान ेपर बढ़ता है 

  d) सभी ǒबदंओु ंपर समान होता है  

The magnetic field inside a long straight solenoid-

carrying current 

  a) is zero 

  b) decreases as we move towards its end 

  c) increases as we move towards its end 

  d) is the same at all points 

3.  ͪवɮयतु ऊजा[ का åयापाǐरक माğक ______________ है। 1 

 __________ is the commercial unit of electrical energy.  

 4.  तार संͬ ध का Ĥतीक बनाइये।       1 

Draw the symbol of a wire joint.  

5.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): Ĥकाश रेǑटना से होकर नğे मɅ Ĥवेश करता है।  

कारण (R): आखँ का लɅस-Ǔनकाय रेǑटना पर ĤǓतǒबबं बनाता है। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Light enters the eye through retina. 

Reason (R): Lens system of eye forms image on retina.  

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 6.  ͩकसी चालक का ĤǓतरोध ͩकन कारकɉ पर Ǔनभ[र करता है?  2 

On what factors does the resistance of a conductor 

depend?  

अथवा 

Or 

  ĮेणीĐम मɅ संयोिजत करन े के èथान पर वɮैयतु यिुÈ तयɉ को 

पाæव[Đम मɅ संयोिजत करने के Èया लाभ हɇ?   2 
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  What are the advantages of connecting electrical devices 

in parallel with the battery instead of connecting them in 

series? 

 7.  4 m फोकस दरूȣ वाले ͩकसी अवतल लɅस कȧ ¢मता £ात कȧिजए।

          2 

  Find the power of a concave lens of focal length 4 m. 

 8. गोलȣय दप[णɉ ɮवारा परावत[न के ͧलए Ǔनधा[ǐरत ͬचÛह पǐरपाटȣ 

ͧलͨखए।          3 

  Write the  sign convention set for reflection by spherical 

mirrors.   

 9.  मानव नğे का एक नामांͩकत आरेख बनाए।ं    3 

  Draw a well labelled diagram of the human eye.  

 10.  Ǔनàनͧलͨखत कȧ Ǒदशा को Ǔनध[ǐरत करन ेवाला Ǔनयम का नाम व 

पǐरभाषा ͧलͨखए:        5 

  (i) ͩ कसी ͪ वɮयतु धारावाहȣ सीध ेचालक के चारɉ ओर उ×पÛन चुंबकȧय 

¢ेğ 

  (ii) ͩकसी चुंबकȧय ¢ेğ मɅ, ¢ेğ के लंबवत िèथत, ͪवɮयुत धारावाहȣ 

सीध ेचालक पर आरोͪपत बल 

  Name and state the rule to determine the direction of 

following:  

  (i) magnetic field produced around a straight conductor-

carrying current.  
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  (ii) force experienced by a current-carrying straight 

conductor placed in a magnetic field which is 

perpendicular to it.   

अथवा 

Or 

  ͩकसी वƣृाकार पाश मɅ ĤवाǑहत धारा के कारण चुंबकȧय ¢ेğ का 

आरेख खींͬ चए। ऐसा Èयɉ है ͩक n फेरɉ कȧ ͩकसी वƣृाकार कंुडलȣ 

से ͩकसी ǒबÛद ुपर उ×पÛन चुंबकȧय ¢ेğ एक फेरे ɮवारा उसी ǒबÛद ु

पर उ×पÛन ¢ेğ का n गुना होता है।      5 

  Explain with the help of a labelled diagram the 

distribution of magnetic field due to a current through a 

circular loop. Why is it that if a current carrying coil has 

n turns the field produced at any point is n times as 

large as that produced by a single turn? 

खंड– ब 

SECTION – B  

(रसायन ͪव£ान) 

(Chemistry) 

11.  चूना प×थर के ऊçमीय ͪवयोजन ɮवारा Ǔनàनͧलͨखत मɅ स े

Èया उ×पÛन होता है?      1 

   a) Ēेफ़ाइट 

   b) ǒबना बुझा हुआ चूना 
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   c) चूने का पानी 

   d) बुझा हुआ चूना 

Which of the following is produced by thermal 

decomposition of limestone? 

   a) Graphite 

   b) Quick lime 

   c) Lime water 

   d) Slaked lime 

12.  सोͫडयम सãफेट और बǐेरयम Èलोराइड के जलȣय ͪवलयनɉ 

को ͧमलाने पर ͩकस Ĥकार कȧ ĤǓतͩĐया होती है?  1 

   a) अपघटन 

   b) संयोजन  

   c) अव¢ेपण 

   d) ͪवèथापन 

What type of chemical reaction occurs when 

aqueous solutions of sodium sulphate and barium 

chloride are mixed? 

   a) Decomposition 

   b) Combination 

   c) Precipitation 

   d) Displacement 
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13.  इमलȣ मɅ ________________ अàल होता है.   1 

Tamarind contains _____________ acid. 

14.  एक धातु का उदाहरण दȣिजए जो ऊçमा कȧ सबस ेअÍछȤ चालक 

होती है।         1 

Give an example of a metal which is the best conductor 

of heat? 

15.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।         1 

अͧभकथन (A): साबनु कठोर जल के साथ èकम बनाता है। 

कारण (R): कठोर जल मɅ कैिãशयम और मÊैनीͧशयम के लवण होत े

हɇ। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): Soap forms scum with hard water. 
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Reason (R): Hard water contains salts of calcium and 

magnesium. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 16.  सतुंͧलत रासायǓनक समीकरण Èया है? रासायǓनक समीकरण को 

  संतुͧलत करना Èयɉ आवæयक है?     2 

What is a balanced chemical equation? Why should 

chemical equations be balanced? 

17.  काब[न एवं उसके यौͬगकɉ का उपयोग अͬधकतर अनĤुयोगɉ मɅ Ƀधन  

के Ǿप मɅ Èयɉ ͩकया जाता है?      2 

  Why are carbon and its compounds used as fuels for 

most applications?  

 18.  परखनलȣ ‘A’ एव ं ‘B’ मɅ समान लंबाई कȧ मैÊनीͧशयम कȧ पɪटȣ 

लȣिजए। परखनलȣ ‘A’ मɅ हाइĜोÈलोǐरक अàल (HCl) तथा परखनलȣ 

‘B’ मɅ ऐͧसǑटक अàल (CH3COOH) डाͧलए। दोनɉ अàलɉ कȧ माğा 

तथा सांġता समान हɇ। ͩकस परखनलȣ मɅ अͬधक तेज़ी स ेबदुबदुाहट 

होगी तथा Èयɉ?        3 
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  Equal lengths of magnesium ribbons are taken in test 

tubes A and B. Hydrochloric acid (HCl) is added to test 

tube A, while acetic acid (CH3COOH) is added to test 

tube B. Amount and concentration taken for both the 

acids are same. In which test tube will the fizzing occur 

more vigorously and why? 

 19.  Ǔनàनͧलͨखत यौͬगकɉ कȧ इलेÈĚॉन ǒबदं ुसरंचनाओ ंको खींचɅ: 3 

  (i) मथेेन 

  (ii) एथीन   

  (iii) मेथेनैल         

  Draw the electron dot structures of following compounds:  

  (i) Methane 

  (ii) Ethene   

  (iii) Methanal 

अथवा 

Or 

  Ǔनàनͧलͨखत यौͬगकɉ का नामकरण कैस ेकरɅगे?    3 

  (i) CH3CH2Br 

  (ii) CH3COCH3 

  (iii) CH3CHO 

How would you name the following compounds? 
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(i) CH3CH2Br 

  (ii) CH3COCH3 

(iii) CH3CHO 

20.  स¢ंारण Èया है? इसके दो उदाहरण ͧलͨखए। उन चार ͪवͬधयɉ के 

नाम बताइए िजनका उपयोग स¢ंारण को रोकन ेके ͧलए ͩकया जा 

सकता है।         5 

What is corrosion? Write its two examples. Name four  

 methods that can be used to prevent to corrosion. 

अथवा 

Or 

  वɮैयतु संयोजक यौͬगक Èया हɇ? उनके गुणधमɟ को èपçट कȧिजए।

          5 

What are electrovalent compounds? Explain their 

properties. 

खंड– स 

SECTION – C  

(जीव ͪव£ान) 

(Biology) 

 21.  कोͧशका मɅ Êलकूोज का पायǾवेट मɅ ͪवखडंन कहा ंहोता है? 1 

  a) माइटोकॉिÛĜया 

  b) कɅ ġक 
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  c) कोͧशका ġå य 

  d) राइबोसोम 

Where does breakdown of glucose into pyruvate takes 

place in a cell?  

  a) Mitochondria 

  b) Nucleus 

  c) Cytoplasm 

  d) Ribosomes 

 22.  पौधɉ मɅ पͪƣयɉ का मुरझाना ͩकसके कारण होता है?   1 

  a) एिÞसͧसक अàल 

   b) साइटोकाइǓनन 

   c) ऑिÈसन 

  d) इनमɅ से कोई नहȣ ं 

  Wilting of leaves in plants is caused by?  

  a) Abscisic Acid 

   b) Cytokinins 

   c) Auxins 

  d) None of these 

 23. ओजोन के अण ुऑÈसीजन के ____परमाणुओ ंसे बनते हɇ। 1 
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Ozone molecules are formed from _________ atoms of 

oxygen.   

 24. जैͪवक आवध[न Èया है?       1 

What is biological magnification? 

25.  Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीच ेǑदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर 

दȣिजए।         1 

अͧभकथन (A): पपीते के सभी पौधे फल नहȣं देते हɇ। 

कारण (R): पपीत ेके पौधɉ मɅ केवल एकͧलगंी फूल होत ेहɇ। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 

Assertion (A): All papaya plants do not bear fruits.  

  Reason (R): Papaya plants have only unisexual flowers.  

a) Both A and R are true, and R is the correct 

explanation of A.  
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b) Both A and R are true, and R is not the correct 

explanation of A.   

  c) A is true but R is false  

  d) A is false but R is true.   

 26. संतǓत मɅ नर एव ंमादा जनकɉ ɮवारा आनवुंͧ शक योगदान मɅ बराबर 

कȧ भागीदारȣ ͩकस Ĥकार सǓुनिæचत कȧ जाती है।   2 

How is the equal genetic contribution of male and female 

parents ensured in the progeny? 

अथवा 

Or 

ल¢णɉ कȧ वंशागǓत के ͧलए Ǔनयम ͩकसने Ǒदए? उनके Ĥे¢णɉ के 

ͧलए अÚययन ͩकए गए जीव का नाम ͧलͨखए।   2 

Who gave the rules for inheritance of traits? Write the 

organism studied for his observations. 

 27.  उ×सजȸ उ×पाद से छुटकारा पाने के ͧलए पादप ͩकन ͪवͬधयɉ का 

उपयोग करत ेहɇ।        2 

  What are the methods used by plants to get rid of 

excretory products?  

 28. एĜीनलȣन हामȾन के İोत Ēंͬथ का नाम बताइए। जब एĜीनलȣन 

ǽͬधर मɅ İाͪवत होती है तो हमारे शरȣर मɅ Èया अनुͩ Đया होती है?

          3 
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  Name the source gland of adrenaline hormone. How 

does our body respond when adrenaline is secreted into 

the blood?  

 29.  पƣी के अनुĤèथ काट का एक नामांͩकत आरेख बनाएं।  3 

  Draw a well labelled diagram of cross section of leaf. 

अथवा 

Or 

  मानव ǿदय का एक नामांͩकत आरेख बनाएं।   3 

  Draw a well labelled diagram of the human heart. 

 30. एकल जीवɉ ɮवारा उपयोग कȧ जाने वालȣ Ĥजनन कȧ ͩकÛहȣं पाँच 

ͪवͬधयɉ को èपçट कȧिजए।      5 

  Explain any five modes of reproduction used by single 

organisms.          

अथवा 

Or 

  गभ[Ǔनरोधन Èया है? गभ[Ǔनरोधन कȧ ͪवͧभÛन ͪवͬधयɈ को èपçट 

कȧिजए।         5 

  What is contraception? Explain different methods of 

contraception. 

 


